iR s
o .

enNeRrRGIGA

%, OF NEW ENGLAND

Tour Performance Handlebar Riser for Energica Eva Ribelle

Installation Instructions

1 1/8” Taller ~ 1 1/8” Rear Offset ~ Handlebar Set at 45 Degree Angle

IMPROPER INSTALLATION COULD RESULT IN SERIOUS INJURY OR DEATH.
HAVE A QUALIFIED MECHANIC INSTALL YOUR HELIBARS.

1) Place a large shop rag over the body behind the handlebars. Using a 6mm hex loosen and remove all
four pinch bolts and top clamp. Hold handlebar assembly as it will want to rotate down. (See Photo #1) Place
bars behind triple clamp and rest them on rags to keep from scratching the components. (See Photo #2)

2.) Place the adapter in position as shown in (Photo #3) and install the M8 x 20mm screws provided.
Torque the two forward screws (closest to fairing) first to 16 ft. Ibs. followed by the rear two screws (closest to
rider). Make sure no rags have been pinched between the adapter and triple clamp.

3) Place the handlebar assembly over the triple clamp bar mount and adjust bars left or right to center them
(See Photo #4).

4) Put clamp cover into position and install the four OEM screws. Tighten the two forward screws first,
enough to keep the bars from moving in the mount. Install the two rear screws and lightly tighten. (See Photo
#5) Rotate bars forward or back to desired position. (See Photo #6) Starting with the forward two screws and
torque them to 16 ft. Ibs. (See Photo #7) Torque the rear two screws to 16 ft. 1bs.

S.) Move the bars to left steering stop then to the right steering stop. If the front brake hydraulic line is too
tight when the bars are turned to the left stop you can increase slack by adjusting the banjo fitting forward at the
ABS unit. (See Photo #8) Loosen banjo bolt, rotate line forward 1/4”-1/2” then re-tighten banjo bolt to 12 ft.
Ibs.

1! CAUTION!! BARS MUST BE TORQUED TO
SPECIFIED VALUES.
THEY MUST NOT BE OVER TORQUED.
OVERTIGHTENED HARDWARE CAN LOSE INTEGRITY.

For questions regarding installation please call 978-895-1195

HELI MODIFIED, INC ASSUMES NO LIABILITY FOR ANY INJURY OR LOSS OF PROPERTY
WHICH MAY RESULT FROM IMPROPER INSTALLATION OR USE OF ANY HELIBARS.

em@&nﬂ Installation Instructions - HR16153
‘{:l‘:"/ Energica of New England ~ 45 Fredette Street ~ Gardner, MA 01440

Phone: 978-895-1195



Photo # 2

Photo # 1

Installation Instructions - HR16153
Energica of New England ~ 45 Fredette Street ~ Gardner, MA 01440
Phone: 978-895-1195

Photo # 4

Photo # 3



8 # 0j0Ud

9 # 0304

L #010Ud

S # 0104d

~ Gardner, MA 01440
Phone: 978-895-1195

Installation Instructions - HR16153

Energica of New England ~ 45 Fredette Street

I\



